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FIG. 1. The accumulated @ versus ¢ for different p and a under

the influence of the gravity from the DM minispike. The

eccentricity e 1s 0.6, and the values of a are chosen as 2.25,

7/3 and 2.5. The semilatus rectum p are chosen as 10°R,, 10*R,,

10°R, and 10°R..
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FIG.2. The ratio Awpy/Awy, versus the semi-latus rectum p in
the range 3R, to 108R, for different values of a. We take the
orbital eccentricity e = 0.6.
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® Mismatch

~

2 B (RS + ha(F)RE(F)
hilhy) = 2 / ! L2 d
( 1| 2) 0 Sh(f) f
o hi |k
O(hy, hy) = ~< ~1| 2~) =
V) (o o)
Mismatch =1 — (’)max(ih, ilQ)
€o SNRy | SNRp| Mismatch| D, ax o = 10° Ry, e
0.2 | 34.13 | 42.97 1 0.99992 | 358.1 o =17/3
0.4 | 34.19 | 47.74 | 0.99944 | 397.8 — 10R. — 1vear
0.6 |34.44 |36.71 | 0.99965 | 305.9 . s

d;r, = 100Mpc
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0; = 24

K. Eda, Y. Itoh, S. Kuroyanagt, and J. Silk, PRD 91, 044045 (2015)

o) AD, | At, | Aln M (%)| Aa Aln k(%)
No DM | 0.496| 2.08 | 4.27 x 1077 | - -

2.25 440 15.25 | 1.96x 107* | 1.16 x 107° | 0.000303
7/3 1.88 | 1.73 19.91x 1074 | 1.64 x 1079 | 0.000414
2.5 488 | 7.46 | 1.97x 1071 | 6.34 x 1072 | 0.0207
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| M | M M
T =—7 +2 —arctan T+T0€ ) £ =2rg— M + 4Mpgg.
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" PREIZER wo > 10°

System p(Har) p(Hgp) p(AH) Mismatch
qg=10"7

Circular 12.49 12.49 (12.49) 17.88 (17.65)  0.98 (0.71)
Eccentric (eg = 0.8) || 13.22 13.22 (13.22) 18.69 (17.97)  0.99 (0.73)
qg=10~*

Circular 26.86 26.86 (26.87) 38.41 (34.48)  0.97 (0.56)
Eccentric (eg = 0.8) || 23.89 23.88 (23.92) 34.16 (33.86)  0.97 (0.5)
qg=10"°

Circular 197.94  197.95 (197.94) 284.12 (278.51) 0.94 (0.33)
Eccentric (eo = 0.8) | 152.45 152.45 (152.44) 218.14 (211.11) 0.90 (0.26)

wo = 10°(10°)
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